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�!�"�# y= a + bx R2 
PGMHS 17 y = 99.877x + 27.122 R2 = 0.9888 
PGMHS 15 y = 100.09x + 27.174 R2 = 0.9922 
PGMHS 13 y = 101.39x + 38.917 R2 = 0.9827 
PGMHS 12 y = 97.301x + 51.827 R2 = 0.9845 
PGMHS 11 y = 100.95x + 32.691 R2 = 0.9896 
PGMHS 7 y = 99.627x + 34.598 R2 = 0.9864 
PGMHS 3 y = 98.086x + 62.199 R2 = 0.9767 
������ 1 y = 105.24x + 56.647 R2 = 0.9602 
������ 2        y = 91.569x + 87.56 R2 = 0.9837 
������ 4 y = 99.033x + 54.697 R2 = 0.9685 
������ 7 y = 105.36x + 32.718 R2 = 0.9755 
������ 8 y = 104.25x + 70.902 R2 = 0.9753 

��;!	 y = $�
�%�$�� (	+,�-�������), x = $�
�%�$�� ()����
), a = �+�$�������@ (constant),       
b = �#���!�%��!A�$#	��*!
��#
A x 
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�!�"�# y = a+bx+cx2+dx3 R2 
PGMHS 17 y = -0.0001x3 + 0.0202x2 - 0.6941x + 5.8458 R2 = 0.9931 
PGMHS 15         y = -9E-05x3 + 0.0162x2 - 0.5193x + 4.0277 R2 = 0.9997 
PGMHS 13 y = -0.0001x3 + 0.0215x2 - 0.7612x + 6.5666 R2 = 0.9759 
PGMHS 12         y = -5E-05x3 + 0.0095x2 - 0.2535x + 1.6013 R2 = 0.9928 
PGMHS 11 y = -0.0002x3 + 0.0346x2 - 1.2398x + 11.122 R2 = 0.9459 
PGMHS 7 y = -0.0002x3 + 0.0392x2 - 1.4186x + 12.365 R2 = 0.9487 
PGMHS 3 y = -0.0002x3 + 0.0264x2 - 0.8714x + 7.2191 R2 = 0.9833 
������ 1 y = -0.0002x3 + 0.0389x2 - 1.4101x + 13.075 R2 = 0.964 
������ 2 y = -0.0001x3 + 0.0174x2 - 0.5103x + 3.7619 R2 = 0.9722 
������ 4         y = -0.0002x3 + 0.0252x2 - 0.8093x + 6.362 R2 = 0.8941 
������ 7 y = -0.0002x3 + 0.0308x2 - 1.1329x + 9.6115 R2 = 0.9891 
������ 8 y = -0.0001x3 + 0.0221x2 - 0.7165x + 5.9194 R2 = 0.9926 

��;!	 y = �'���������
$��, x = ����
�
�����
%��� ��� a, b, c, d = �#����%�����"�N 
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�!�"�# y = a+bx+cx2+dx3 R2 
PGMHS 17 y = -1E-04x3 + 0.0151x2 - 0.4365x + 3.206 R2 = 0.9931 
PGMHS 15 y = -4E-05x3 + 0.0062x2 - 0.0707x - 0.3126 R2 = 0.9083 
PGMHS 13  y = -8E-05x3 + 0.0128x2 - 0.4082x + 3.3781 R2 = 0.9838 
PGMHS 12          y = -9E-05x3 + 0.0138x2 - 0.4242x + 3.387 R2 = 0.9828  
PGMHS 11  y = -8E-05x3 + 0.0128x2 - 0.3615x + 2.5957 R2 = 0.9967 
PGMHS 7   y = -0.0001x3 + 0.0187x2 - 0.3638x + 5.0303 R2 = 0.9947 
PGMHS 3   y = -0.0001x3 + 0.0169x2 - 0.5005x + 4.0933 R2 = 0.9872 
������ 1          y = -0.0002x3 + 0.027x2 - 0.8403x + 7.015 R2 = 0.9923 
������ 2          y = -5E-05x3 + 0.006x2 - 0.0539x - 0.5919 R2 = 0.9227 
������ 4          y = -1E-04x3 + 0.0136x2 - 0.318x + 1.714 R2 = 0.8054 
������ 7   y = -0.0001x3 + 0.0191x2 - 0.6335x + 5.1224 R2 =  0.9894 
������ 8  y = -6E-05x3 + 0.0094x2 - 0.2123x + 1.1572 R2 =  0.9751 

��;!	 y = �'���������
)�, x = ����
�
�����
%��� ��� a, b, c, d = �#����%�����"�N 
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�!�"�# y = a+bx+cx2+dx3 R2 
PGMHS 17 y = -0.0002x3 + 0.0352x2 - 1.1306x + 9.0518 R2 = 0.9955 
PGMHS 15         y = -0.0001x3 + 0.0223x2 - 0.59x + 3.7152 R2 = 0.9881 
PGMHS 13 y = -0.0002x3 + 0.0343x2 - 1.1694x + 9.9447 R2 =  0.9787 
PGMHS 12         y = -0.0002x3 + 0.0395x2 - 1.3665x + 11.74 R2 = 0.9669 
PGMHS 11 y = -0.0003x3 + 0.0434x2 - 1.4618x + 12.445 R2 = 0.9893 
PGMHS 7         y = -0.0004x3 + 0.064x2 - 2.2301x + 19.006 R2 = 0.9607 
PGMHS 3         y = -0.0002x3 + 0.0319x2 - 0.7218x + 7.581 R2 = 0.993 
������ 1  y = -0.0004x3 + 0.0658x2 - 2.2499x + 20.084 R2 = 0.9817 
������ 2         y = -0.0002x3 + 0.0277x2 - 0.7615x + 5.315 R2 =  0.9792 
������ 4         y = -0.0003x3 + 0.0388x2 - 1.1273x + 8.076 R2 = 0.8654 
������ 7  y = -0.0003x3 + 0.0497x2 - 1.7685x + 14.849 R2 = 0.9741 
������ 8  y = -0.0003x3 + 0.0393x2 - 1.2344x + 10.063 R2 = 0.9885 

��;!	 y = �'���������
$�����)�, x = ����
�
�����
%��� ��� a, b, c, d = �#����%�����"�N 
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�!�"�# y = a+bx+cx2 R2 
PGMHS 17 y = 31.767+0.5892x-0.0065x2 R2 = 0.7687 
PGMHS 15 y = 33.832+0.7755x-0.0093x2 R2 = 0.9116 
PGMHS 13                    y = 36.283+0.6653x-0.007x2 R2 = 0.8343 
PGMHS 12 y = 30.735+0.6156x-0.0075x2 R2 = 0.9812 
PGMHS 11 y = 26.694+0.3847x-0.0049x2 R2 = 0.6425 
PGMHS 7 y = 27.405+0.5242x-0.0066x2 R2 = 0.9013 
PGMHS 3 y = 31.767+0.5892x-0.0065x2 R2 = 0.7687 
������ 1 y = 29.636+0.4803x-0.0053x2 R2 = 0.8606 
������ 2                     y = 26.07+0.2353x-0.0022x2 R2 = 0.4426 
������ 4                     y = 30.73+0.541x-0.0058x2 R2 = 0.6816 
������ 7 y = 34.286+0.7281x-0.008x2 R2 = 0.9679 
������ 8  y = 41.698+1.0493x-0.0114x2 R2 = 0.9444 

��;!	 y = %����,���%���	�@Q�	���, x = ����
�
�����
%��� ��� a, b, c = �#����%�����"�N 
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�!�"�# y = a+bx+cx2 R2 
PGMHS 17 y = 8.3087+3.0816x-0.0273x2 R2 = 0.4248 
PGMHS 15    y = 67.801+1.1455x-0.0108x2 R2 = 0.2728 
PGMHS 13    y = 83.155+3.1212x-0.0397x2 R2 = 0.5429 
PGMHS 12   y = 70.513+2.0458x-0.0197x2 R2 = 0.4418 
PGMHS 11   y = 76.853+2.6867x-0.0276x2 R2 = 0.7202 
PGMHS 7   y = 73.691+1.2769x-0.0127x2 R2 = 0.4537 
PGMHS 3 y = 76.168+2.386x-0.0285x2 R2 = 0.9348 
������ 1  y = 58.767+1.8761x-0.0177x2 R2 = 0.3685 
������ 2                   y = 55.883+2.3665x-0.0247x2 R2 = 0.7014 
������ 4 y = 78.452+1.4444x-0.018x2 R2 = 0.7197 
������ 7  y = 77.906+2.9463x-0.0359x2 R2 = 0.7044 
������ 8  y = 78.988+2.3756x-0.0289x2 R2 = 0.4773 

��;!	 y = %����,���%���	�@Q�����, x = ����
�
�����
%��� ��� a, b, c = �#����%�����"�N 
 
 
 
 
 


